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module bsl{

input ina<4>, inb<2> ;

output y<4> ;

instrin enable ;

instruct enable alt {

inb==01: y = ina<2:0>||0b0 ; /* 1bit Left shift */

inb==10: y = ina<1:0>||0b00; /* 2bit Left shift */

inb==11: y = ina<0>||0b000; /* 3bit Left shift */

else: y = ina;

}

}
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b) Barrel Shifter (5bit left shift)

a)1bit left shift
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module bsl{

input ina<4>, inb<2> ;

output y<4> ;

instrin enable ;

sel_v aa<4>;

instruct enable par {

alt {

inb<0>: aa = ina<2:0>||0b0 ; /* 1bit Left shift */

else: aa = ina;}

alt {

inb<1>: y = aa<1:0>||0b00; /* 2bit Left shift */

else: y = aa;}

}

}
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